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7/11/2019 RRB Objection

Exam Code : AADHI_38 Exam Date :28-06-2019

Version :10 Exam Time :15:30-17:00

Question No. 1

SSIATATST TN AN (F forar?
A)B.C. 43T B)®5T® 52 (FTTIaT
C) faeya™ T D)JEF ve fo s

Who was the first Chief Minister of Uttarakhand?

A)B.C. Khanduri B)Bhagat Singh Koshyari
C)Nityanand Swami D)Narayan Dutt Tiwari
Answer Key : C Your Response : Not Answered

Question No. 2

faafafire @1afe IREITSEES?
A)TIG B) FIERRSE
C) SIS D)o

Which of the following is a micronutrient?

A)Fat B)Carbohydrate
C)lodine D)Protein
Answer Key : C Your Response : Not Answered

Question No. 3
S0 ITF (T ARSI NN GG A= ©1F AFSHT 0.2 (FS I B9 AT AT
it 17 sifs 342 RBTI/CES 2T, ST IS0 (A TS YT F6?
A)34.2 fFioE B)68.4 GBI
C)68.8 B D)34.4 RGE

The echo of the sound of a boy standing in front of a mountain is heard after 0.2 s. What is the distance of the

mountain from the boy when speed of the sound is 342 m/s?

A)342m B)68.4 m
C)68.8 m D)34.4 m
Answer Key : A Your Response : B (Wrong)

Question No. 4
THTH 4T SETFATT (T TF1T SfEW@E I 7MSIT I ST I(AT-
A)STEH0R B)®I%H
C) ST )bjre

The type of plant cells found in major types of plant tissues is/are-
A)All of the options B)Vascular
C)Dermal D)Ground
Answer Key : A
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M.S. (4Tt fRTaF aFag sIfyams f&fa i 8 3y ICC B fetaa|

AT B)bF

C)*I1s D)féw

MLS. Dhoni is the only captain in the world to have won all the major ICC trophies.
A)Six B)Four

C)Five D)Three

Answer Key : D Your Response : D (Correct)

Question No. 6

(7% (OT® ITNIHBF AT 7Y TITF 9FF Ohm(Q)
AT B)f3®q "M
C) (e IDEGIEY

Name the physical quantity whose unit is Ohm(€2).

A)Charge B)Potential difference
C)Resistance D)Current
Answer Key : C Your Response : C (Correct)

Question No. 7

(82 + 28)"-(82-28)°
T aF M T FH
A) B)
8 110
C) D)
4 220

(82 + 28)°-(82-28)°
82 x 28

Find the value of

A) B)

8 110
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Answer Key : C Your Response : C (Correct)

Question No. 8
afere 5 fite 9 PTG 205, ST I e I aaT 8 s 26!
STFTE 7 AT I i@ JF 3 FFEnfdra 216+ ST=ET (F ISATE ©1F o aT 3 (WF
FOYE IR @ firTe Ar=?

A) 14 SETIGE wigher o5& B) 12 fSENRGE e sfee
C) 8 fFENRIGE v Ao D)10 fFEeE Sed I&

Lalit walks 9 km east, turns left and walks another 8 km. He again takes a left and walks another 3 km. How far

and in which direction is he now from his starting point?

A)14 km, south east B)12 km, north west
C)8 km, south west D)10 km, north east
Answer Key : D Your Response : D (Correct)

Question No. 9

e fAegsfa (aE TfeaAinE e a1
A)16 - 64 B)49 - 169
C)36 - 100 D)25 - 81

Find the ODD one out from the given options.

A)16 - 64 B)49 - 169
C)36 - 100 D)25 - 81
Answer Key : B Your Response : B (Correct)

Question No. 10

% a6 arffew I aF0 TFea T Afowo 7@ AETT 9F2 Y FHE A, o
@1 (F4 9 SET TR 29?2

A)GTFIT F B)&IFN F 432 %ol (7% C 97 JET (T (&
@FT
C)@F4 P (Pole) D)3Fe] (T4 C

If an incident ray is reflected back along the same path in a concave mirror, then through which peint does that

ray pass?

A)Focus F B)Any point between focus F and centre of curvature C
C)Pole P D)Centre of curvature C

Answer Key : D Your Response : A (Wrong)

Question No. 11
a5f6 fafie A(FT® 'kew xas huma deko' JT 'she is eating apples'; 'kew tepo qua' JT(d
'she sells toys' a3% 'sul lim deko' TG 'I like apples' X, (T2 NI 'she and apples' 97
a5 =@ ? e T e e TR, I Top




2N Skew and deko TR 1im
C)xas and kew D)xas and deko

In a certain code language, 'kew xas huma deko' means 'she is eating apples'; 'kew tepo qua' means 'she sells toys'

and 'sul lim deko' means 'I like apples'. Which word in that language means 'she and apples'?

A)kew and deko B)kew and lim
C)xas and kew D)xas and deko
Answer Key : A Your Response : A (Correct)

Question No. 12
e a2 (0.3 x 0.3 +0.01) x (0.1 x 0.1 + 0.09)
A)1/100 B)1/10
0)1 D)9

Simplify: (0.3 x 0.3 + 0.01) x (0.1 x 0.1 + 0.09)

A)1/100 B)1/10
0)1 D)9
Answer Key : A Your Response : A (Correct)

Question No. 13

273 sifste gt Ga F7dite fing sem| 3ft afsfe G@Ea ey 120 5617 23, a3 o1&T
ATF AMIEF 12 NS Ao T F(F o F Il (FEaF srie@st ((FEnfiera / g61) 740
A)10 fBRI/EBT B) 18 {161

C)36 fBf/=5T D)72 /6T

Two trains are running in opposite directions with the same speed. If the length of each train is 120 m, and they

cross each other in 12 seconds, then find the speed of each train.

A)10 km/h B)18 km/h
C)36 km/h D)72 km/h
Answer Key : C Your Response : D (Wrong)

Question No. 14
936 IFF BIF AT AF @EfSW @BTE I3TTF Ty B TS 11 7 @EE
(TTRIETT T3 TAE ST fF 932 STFNF I fWF JIETISTRE @G0T JA &I
fora 2
NER) B) 165
C)wfzger D)&ad

A boy starts from his home northward in order to go to a hotel. He took right turn and took left to reach the hotel.

Which direction is the hotel facing?

A)East B)West
C)South D)North
Answer Key : C Your Response : D (Wrong)

Question No. 15

Top
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AR 0T (FTA RID fE2(E T IET WYY ATIUSIET TS I6 T3+ a2

3+5x8+2-10=13
A)+ 973 - B)+ a3 -
O)x AR + D)+ a3 +

In the following question, which of the two signs are interchanged to make the equation correct?

3+5x8+2-10=13

A)+and - B)+and -
C)x and + D)+ and +
Answer Key : D Your Response : D (Correct)

Question No. 16
FT9 I 73T 51767 Tt fF 1o $7, 1 P 232 T7F ofS AS@HFTI I3 JTH
TS FE?
A)NETRH e B) S(e1F e
C)FFefee I D)REHIT I

Which force acts in the direction opposite to the motion of the object, which is between the surface of the ground

and the object opposing the motion of the object?

A)Force of gravity B)Force of friction
C)Electrostatic force D)Magnetic force
Answer Key : B Your Response : B (Correct)

Question No. 17

AF6 TATTT Fa%H e (19 37 8 T1aT71 AT I N T TIATI
A)6 B)2
C)8 D)4

The cube of a number ends in 8. Its square should ends in:

A)6 B)2
C)8 D)4
Answer Key : D Your Response : D (Correct)

Question No. 18
NIT FPe2 0.05 x 0.02 x 10
A)1.01 B)0.001
O)1.1 D)0.01

Simplify: 0.05 x 0.02 x 10

A)1.01 B)0.001
O)1.1 D)0.01
Answer Key : D Your Response : D (Correct)
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72097 B A7 (N6 T B 232 C 97 (N6 IACIHEEW 12 T27 @11 A 93 C 9T MY &
(RTBT 978 F© IREFI?

A)A, 6 TRET B)C, 12 I%Ed
Q)A, 12 =@ D)C, 6 T2@d

The total age of A and B is 12 years more than the total age of B and C. Who is younger among A and C, and by

how many years?

A)A, by 6 years B)C, by 12 years
C)A, by 12 years D)C, by 6 years
Answer Key : B Your Response : B (Correct)

Question No. 20
BTATOF AN AT JATHR (F foreTar?
A)S[EST FHATTEANN B) M@ 712G
C) TSFHI Ifo (1S D)ot 7fas

Who was the first woman Chief Minister of a state in India?

A)Sucheta Kripalani B)Sarojini Naidu
C)Rajkumari Amrit Kaur D)Vijayalakshmi Pandit
Answer Key : A Your Response : A (Correct)

Question No. 21

e a SIS TETETST T2FNI A0S Tue T(IF S el

A, B, C, D, E, F, G 93% H 13@F & ¥ F@F 9F0 G113 @ 7@ aF0 =T
@ Tl C, A IT G FET ACT FTSTAIE. D, A 9F =0T 9% $% H 93 70T @21 E, H 97
ACT A= 432 F 93 TTF (0F (AF POIN0e A= B, F 97 0T A= 932 D 937 IN 5%
ATF 5o A= |

A AT (& G a7 3% o1 fae sm?
AH B)E
C)B D)F

Read the following information carefully and answer the question given below.

A,B,C,D,E, F, G and H are playing a game standing in a circle facing outwards. C is neither the neighbour of A
nor of G. D is the neighbour of A but not of H. E is the neighbour of H and is third to the right of F. B is the
neighbour of F and fourth to the left of D.

I o e v " AT e ey = \.:r?f]/ Top
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C)B D)F

Answer Key : D Your Response : Not Answered

Question No. 22
936 fafig M@ @ 'GROWTH' (F 'THQPVUG' 932 'FOUR' (F 'GNVQ' fITF faa, ;1%
WT&FFe(@ 'PROBLEMS' (F & ©T(T (7T 3(3?
A)QQNCMDNR B) OQPAMDNR
C)QQPAKDNR D)QQPAMDNR

In a certain code, "GROWTH' is written as '"HQPVUG' and 'FOUR' is written as '"GNVQ'. How is 'PROBLEMS'

written in that code?

A)QQNCMDNR B)OQPAMDNR
C)QQPAKDNR D)QQPAMDNR
Answer Key : D Your Response : D (Correct)

Question No. 23

2% =0, foaft fF3fs s s I o v foaft frarg)
o712 a8 @ faa I71 gfesTeena T SRaETsT

Rrafe:

1) foeg 318 71 (57171
2) ST ST 3 G|

3) 9 F1FG T ST

Frars:

I. {5 w3 27 e
I1. {5 (6377 71 IS
IT1. {5 (6RTF = ST

AT a1 I (T 56T B) (&3 @@ I (T 56T
C) (@3 T&1@ I (3 5 D)a2 59 &8 (I 5
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7M1 %his question, three statements are given followed b)Rﬁl?rQQjeccﬁiﬂ'élusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some houses are chairs.
2) All windows are doors.

3) All houses are windows.

Conclusions:
I. Some doors are windows.
I1. Some chairs are houses.

II1. Some windows are chairs.

A)Only conclusion II follows B)Only conclusion III follows
C)Only conclusion I follows D)AII conclusions follow
Answer Key : D Your Response : D (Correct)

Question No. 24

TS T FF|

18, 21, 24, 27, (...)

A)29 B)31
C)30 D)32

Complete the series.

18, 21, 24, 27, (...)

A)29 B)31

C)30 D)32

Answer Key : C Your Response : C (Correct)

Question No. 25
AFT BTF MG (AF @R vl fia 6 o1 forem 31 ot g7 8 613 (oo 313 o7
1 T4 F 6 FBB1F (51971 (7 A1 ST Tt I 93 4 BB (5171 ST 6717 OF
ST IS (AF Fo I AR AT (F1 7P J¥ FF AMR?
A)12 BB, & B) 10 514, Sex
C)10 o, & D)12 f51F, Ted

Arun went 6 m from his home towards south and turned left to cover 8 m. Again he turned left and covered 6 m.

He again turned right and covered 4 m. What was the direct distance from his home and which direction was he

facing?

A)12 m, east B)10 m, north

C)10 m, east D)12 m, north

Answer Key : A Your Response : A (Correct)
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7IAE 9 P AT Q AFID SEINTAE TATFE [P G of$ wate "l Sex a«

CATET XY, A3 {55 ¥oT 77 N7 916 I3 F@ G3TT TETI FATHIG o T 3FF AN/I

AF 12 5% o191 N7 996 T2 35 371 7@ =2
A)8 fSIfelG =1 B) 10 {6 =@
C)9 fIfel =1 D)6 a6 ="

Two pipes P and Q can fill a cistern in 18 and 24 minutes respectively. Both pipes are opened, but after some time,

the slower pipe is closed. The cistern gets filled in 12 minutes from the start. When is the slower pipe closed?

A)After 8 minutes B)After 10 minutes
C)After 9 minutes D)After 6 minutes
Answer Key : A Your Response : A (Correct)

Question No. 27
TSI FATEBF NTHTIT A1 (62
INGIE S B)faft: A& OF
C) STl e D)1 (STIST

What is the common name of sodium carbonate?

A)Baking soda B)Bleaching powder
C)Common salt D)Washing soda
Answer Key : D Your Response : D (Correct)

Question No. 28
(FTATT AT CATEATE FTSfHA B BISFTE (EPCH) A7 4T wIF AI4e?
A) TR B)SId
C)ferd fufer I EGEIE)]

Where is the head office of Export Promotion Council for Handicrafts (EPCH) located?

A)Varanasi B)Jaipur
C)New Delhi D)Kolkata
Answer Key : C Your Response : Not Answered

Question No. 29

(FTH ATAF AT 35 AT 1.4 fFETa 272 Afsffas srrrg gy fvew 0.85 71613 I

I917e T2
A)ITF B)3%
OENER! D) 5%

Which human organ weighs about 1.4 kg and 0.85 litres of blood passes through it every minute?

A)Brain B)Kidneys
C)Heart D)Lungs
Answer Key : A Your Response : D (Wrong)

Question No. 30
GETY FTOT oo A3 T fefs F@I
A)‘ﬁw @‘ﬁ?ﬁﬁ?q;di\' - — 123\ nn(r;r:-uc;aft Zd_la_(‘@:\,m_, LKA

o I ) oy e e = Y /
L i s e o AU B e e OB A e D Ny / |
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Froth floatation process is based on-

A)Wetting of ore particles B)Electrical properties of ore
C)Specific gravity of ore particles D)Magnetic particles of ore
Answer Key : A Your Response : Not Answered

Question No. 31
T Pfo275T% 932 TOHIRI (e’ T
A)SHAG B) A15r3
C) (@ D)%

Ghoomar is a traditional as well as an enthusiastic folk dance of-

A)Gujarat B)Rajasthan
C)Kerala D)Sikkim
Answer Key : B Your Response : B (Correct)

Question No. 32

F1R6, 7 aFasfT =@ TS F IoFIT GG ATSINFT Y e
AFS@TY FAT ([T *E|

A)fSBifa-A B) (PIETCHaT
C) (e D)f&BIfE-C

Scurvy, the symptoms of which include bleeding gums, may be prevented by adding to the diet.
A)Vitamin A B)Cholesterol

C)Protein D)Vitamin C

Answer Key : D Your Response : D (Correct)

Question No. 33
V26 TATTT (@ITHA 351 ST A% 7 1501 ST JI@T @THET I3 WIS ETT
STTS(HCF) fafm 31
A)7/15 B)1/30
C)7/30 D)5/30

The sum of two numbers is 35. Their product is 150. Find the HCF of the sum of their reciprocals and the

difference of the reciprocals.

AY7/15 B)1/30
C)7/30 D)5/30
Answer Key : B Your Response : Not Answered

Question No. 34

FHD g FFa|

4,7,12,19, (...)
A)27 B)28

C)29 D)26
- Top




HAE 2&1(?1nplete the series. RRB Objection

4,7,12,19, (...)

A)27 B)28
C)29 D)26
Answer Key : B Your Response : B (Correct)

Question No. 35
%6 800 BTFTF [ 3 I AU NI [WF 2T 956 B1=T 27| Tf% 217 4% a1
©F AfFte e Fo 2J?
A)1052 BIT B)96 G131
C)108 G131 D)72 BT

A sum of Rs.800 becomes Rs.956 in 3 years at some rate of Simple Interest. If the rate is increased by 4%, then

what will be the gain in the investment?

A)Rs.1052 B)Rs.96
C)Rs.108 D)Rs.72
Answer Key : B Your Response : B (Correct)

Question No. 36

faafafire @1a S mrasftite SeEEs @R anE?
A)FET B)XS@EATH
C) TR D) fRferT

Which of the following elements possesses the property of catenation?

A)Carbon B)Uranium
C)Hydrogen D)Helium
Answer Key : A Your Response : A (Correct)

Question No. 37
fTeiy FfiF AfFFaar @® THET TAGOIEF GI61T TATET Say AETT AT
CTotE NITIqe T Sy F3T 29|
INGEEIIEET0) B) I SHfgFgen

C) BAS-(SI PG D)SSelEF "G

The second five year plan that called for the establishment of socialist pattern of society was commonly referred

to as the-

A)Nehru Plan B)Mahalanobis Plan
C)Harrod-Domar Plan D)Socialistic Plan

Answer Key : B Your Response : Not Answered

Question No. 38
2ATfeT (BT (T w3 432 (=16 {57 ovsfa AT NTRICES (9T (T =TI
AR B) e
C) (AT D)
_ BETFEA - SIIHT IF

- — — — —
= oy - O —— oy =) ,%? |
RS S s R T b T ) e LR Y /
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7M/2RiBlecules are too small to be seen with naked eyes, but ti3PANBEeen with the help of-

A)Binoculars B)Telescope
C)Periscope D)Electron microscope
Answer Key : D Your Response : D (Correct)

Question No. 39

YT a1 FIaRs 7T

A)FHE B) §5F

C)«reT D)STar

Silver chloride turns _____ in sunlight.

A)Orange B)Grey

C)Red D)White

Answer Key : B Your Response : Not Answered

Question No. 40
T (T AAFHF 2020, SIS FIE?
A)USA B) Ao
OEIC D)fea

Which country will host the Olympics 2020?

A)USA B)Brazil
C)Japan D)China
Answer Key : C Your Response : A (Wrong)

Question No. 41
ft o137 IS (AF Twre@a SeaeT 4 fFEnfinm 77 fre 216+ a3 S137EF F fsa
1T 19 F9F T TATFE 6 [FEHO1F (57971 ST=C ©1F IS (AF [T =Ews yaw Fo2
A)4 BEREE B)2 NG
C) 1 FEnReE D)3 fFEnfeera

Sri walked 4 km towards east from home to school, and he turned three times right side of 6 km respectively.

What is the distance between his home and the school?

A)4 km B)2 km
C)1 km D)3 km
Answer Key : B Your Response : B (Correct)

Question No. 42
fammagers Tf% 1680 BTFT 2T 12T 16% o 2| ST 8% RIG (A8TTF I3 15% Te
FTATT &1 I fofreyT v Fate 2@?
A)2500 BTFT B)2600 GIFT
C)2000 B1FT D)2200 GTT

If the selling price is Rs.1680 there is a loss of 16%, what should be the marked price on this product, if after
allowing discount of 8% there is a profit of 15%?
A)Rs.2500 : ———2R< 24600 Top
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TM2R1Rwer Key : A RRB Objecifdlyr Response : D (Wrong)

Question No. 43
77 3.30 2 9F5F F167 f17 @1 Fo T@?
A)120° B)90°
C)75° D)105°

Find the angle between the hands at 3:30 p.m.

A)120° B)90°
C)75° D)105°
Answer Key : C Your Response : B (Wrong)

Question No. 44
AFfB BTeT WTed fAfT FFa, ITF T, aF6 1386 IAHHBRAGTF cFawa A2 JEa
TN fSa ST AF ©T5T1 272 THwT 2T A7 TNET fF3T

A)3246 HAGIBRGE B)2584 G0 RIGIE

C)2156 TAFBHNGIT D)3562 HAGTIBIb1

Find the volume of a cylinder whose radius is one-third the radius of a circle of area 1386 cm?, and height is twice
its radius.

A)3246 cm?® B)2584 cm?

C)2156 cm® D)3562 cm?

Answer Key : C Your Response : C (Correct)

Question No. 45

faafafiretig Ty @ FIEET ST 2019 e fRETa?
A) PR CETST B)ferel GTel
C) (B *1 D)(SR 182

Who among the following won the Malaysia Open 2019 title?

A)Keigo Sonoda B)Lin Dan
C)Chen Long D)Zheng Siwei
Answer Key : B Your Response : Not Answered

Question No. 46

q _ r
2 ab W, ORE p+q+raF T AT FE

P _
Tt b-¢ e
A) B)

1 -1
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ir P = =Y then find p+q+r.

A) B)
1 -1
C) D)
0 2
Answer Key : C Your Response : C (Correct)

Question No. 47

TAF (F19 I3 ©I@T NS fadme 24, o129 fFafeiie @1a I3 Sfewer 33?2
A)TEF I B)HH T
C) FIN I D) e

When objects are immersed in a fluid, they experience which of the following forces?

A)Mechanical force B)Frictional force
C)Buoyant force D)Spring force
Answer Key : C Your Response : C (Correct)

Question No. 48
U a5 ame13 2/5 ©1 f&3fF ==, Gely g J=3PRReE 34 o1 f[{fE 2=
STITES wﬁaﬁﬁmﬁmm,wmﬁrsﬁrmﬁf—srmmmmﬁm.
A)250 B) 1000
C)750 D)500

2/5 of a set of notebooks are sold on the first day. 3/4 of the remaining got sold on the second day. If 75 notebooks

remain still, how many notebooks were kept for sale?

A)250 B)1000
C)750 D)500
Answer Key : D Your Response : D (Correct)

Question No. 49

14 ﬂﬁmmmmﬁﬁr@aﬁﬁmms THT TAHIC STOT FF A 950
TN RS e sy = P wade? Top
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7/11/21%?;{0\@- Wction
C)HQed D)rETg

The element with atomic number 14 is hard and forms acidic oxide and a covalent halide. To which of the

following categories does the element belong?

A)Alloy B)Metal
C)Metalloid D)Non-metals
Answer Key : C Your Response : D (Wrong)

Question No. 50
'x' BIFTT 3 IRIT 8% I I 5[4, 4000 BIFTT 2 IR 10% 2T 6FF(@ Y TATA| 'x'
A7 AT 4w FF1
A)1400 BIFT B) 6000 BIFT
C) 1520 BT D) 1750 511

The Simple Interest on Rs.'x' for 3 years at 8% equals half the Compound Interest on Rs.4000 at 10% for 2 years.
Find 'x'.

A)Rs.1400 B)Rs.6000
C)Rs.1520 D)Rs.1750
Answer Key : D Your Response : D (Correct)

Question No. 51
gng fom, 8 @F Eg FIEE, s @R sESEE, a9 SFet @RI
orefeE WANEE @ O AN AW STl SAMeE @R e e
RIS (@R A2

-1

G

©) D)

2
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7MzIn the given figure, the circle represents Arvctic Ocean, triangle
represents Ocean, and rectangle represents Atlantic Ocean. Which
regionrepresents Ocean and Atlantic Ocean but not Arctic Ocean?

fwier

A)

-1

Answer Key : A

B)

Ur

| Re]

Your Response : A (Correct)

Question No. 52

foafe F A, B 432 C AF6 BIRE TATFW 12, 15 932 20 61T ©fe FIMW@ AT a9 A
NE4T (ATAT ATF, B 8 C THWHAFSNT 9F BT 97 FF (AT TH| SIEG T T61T

©f$ T@?
A)7 TGl
C)7.5 "Gl

B)8 =BT
D)6 HebT

Three taps A, B and C can fill a tank in 12, 15 and 20 hours respectively. Tap A is open all the time and taps B and

C are open for one hour each alternately. In how many hours will the tank be full?

A)7 hours
C)7.5 hours
Answer Key : A

fafawes @y 2=-
A)TIHR6Y
C) EAFE

Double fertilisation is a characteristic of-
A)Bryophytes

C)Monocots

Answer Key : D

T9d XTI 9 TS|
A)TE IAWST
C) forgy amveT

Sy = —— e ] ot =
[ e A U e e AR T U P e ell) g

B)8 hours
D)6 hours

Your Response : A (Correct)

Question No. 53

B) &
D)3m38> T

B)Gymnosperm
D)Angiosperm

Your Response : Not Answered

Question No. 54

B)T% ST Hag
D)T% BrsfsTar




7MI24{3nspiration decreases in conditions. RRB Objection
A)High humidity B)High light intensity
C)Low humidity D)High temperature
Answer Key : A Your Response : A (Correct)

Question No. 55

Tfr a0 24 CIFF ST (&4 (AF 5 IR 3w ATE ©F @I [ 2(3J:
A)13 Ifer B)25 GIfeY
C)15 ¢ifsr D)17 IfsY

If a chord of length 24 cm is at a distance of 5 cm from centre, then find the radius of the circle.

A)13 cm B)25 cm
C)15cm D)17 cm
Answer Key : A Your Response : A (Correct)

Question No. 56

FTET TIRIF fIoTS @14 F3f5e?
A)FET T B) T+ oF
C) 8f& D)N2A1%

Where is the Kanha Tiger Reserve located?

A)Madhya Pradesh B)Karnataka
C)Odisha D)Maharashtra
Answer Key : A Your Response : Not Answered

Question No. 57

FHD oy FF|

10, 20, 10, 9, 21, 11, 8, 22, 12, (...)
A)ll B)38
C)7 D)5

Complete the series.

10, 20, 10, 9, 21, 11, 8, 22, 12, (...)

A)ll B)38
C)7 D)5
Answer Key : C Your Response : C (Correct)

Question No. 58

GqT AF 6 A& TS =4-
INGIRERIEET] SICIRERIRICLY
C) T8F A 9T AT D)@FESTs ST

JA—

Gy, S g = R Ry —
e N e el o




M2 ostly water BIRARAY Molecules

C)Both molecules and ions D)Mostly ions
Answer Key : D Your Response : C (Wrong)

Question No. 59

(T2 BTSTG 679 FFa T fad (FTSTF Wod 4F32 To7E (I

ikt e
A)biw : S B) 357 : 21fe
C)X : =AY D)SRTSIS : NRFTT

Choose the pair which shows the same relationship as in the pair given below.

Earth : Sun

A)Moon : Earth B)Mars : Jupiter
C)Sun : Galaxy D)Cosmos : Space
Answer Key : A Your Response : D (Wrong)

Question No. 60

2317 Ao F1FT 7301 IHE@ Fo3fer FIHT TIATY ATE?
A)TR B)sifs
C)fes D)5 F

To how many carbon atoms is each carbon atom bonded in diamond?

A)Two B)Five
C)Three D)Four
Answer Key : D Your Response : Not Answered

Question No. 61

FHD oy FF|

2,5,9,19,37,(...)
A)74 B)75
C)76 D)72

Complete the series.

2,5,9,19,37, (...)

A)74 B)75
C)76 D)72
Answer Key : B Your Response : B (Correct)

Question No. 62

s g e e e e a4




TIPERTOE T FFA RRE Objection

HIG, KLJ, NOM, (...)
A)QRP B)RPQ
C)QRS D)PQR

Complete the series.

HIG, KLJ, NOM, (...)

A)QRP B)RPQ

C)QRS D)PQR

Answer Key : A Your Response : A (Correct)

Question No. 63
Tftr 720 FATTT (WTSTH W 13 93 ST I0IT (@IS 27 97, ST O A% Fo
2E?
A)36 B)72
C)110 D)84

If the sum of two numbers is 13 and the sum of their squares is 97, what is their product?

A)36 B)72
0)110 D)84
Answer Key : A Your Response : A (Correct)

Question No. 64

N ~1f&8@ THiEs 6 TS G ATHTO |

A)2 B)8

C)16 D)32

N shell will have maximum of electrons.

A)2 B)8

O)16 D)32

Answer Key : D Your Response : D (Correct)

Question No. 65
21 & Frs 236 M3 Se7 fitF ¥ F@F 36T A= JeT (T AT TF 18 (AF 939
A IOT AR , OIF ST [vF (AF PoiNte fafed ITT A= ST I AT (A&
ferfoters st ara (FrTS?
A)6 O B)15 o
C)16 & D)12 &

In a row of 21 children facing North, Nitin is third to the right of Sita who is ninth from the right end of the row.
What is Nitin's position from the left end?

A)6th B)15th
e Y Top
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TM2R1Rwer Key : € RRB Objecifdlyr Response : B (Wrong)

Question No. 66
T '+ JAICE -, - qIE X' AR X' A '+ TN, OTRT 15-3 +10x 5+ 5="2?
A)38 B)52
C)5 D)48

If '+' means '-', '-' means 'x' and 'x' means '-', then 15-3 +10x5+5=2?

A)38 B)52
C)5 D)48
Answer Key : A Your Response : A (Correct)

Question No. 67
FolIfvte (1 famar F7197 F(J?
A) TS @ B)fAg5ted ©1IT S|
C) A1 F91Re A D)®fG% S8 Hwe

In all the electric appliances like electric iron, toasters, electric kettle, hair dryers etc, which of the following

principles is involved?

A)Resistance in circuits B)Heating effect of current
C)Current passing in series D)Generation of electricity
Answer Key : B Your Response : A (Wrong)

Question No. 68

ferafafire @t 9fadts Taww e Sormrea?
A) AN B) AE@TIH1EG
C) D)3

Which of the following is the lightest material on earth?

A)Aerographene B)Aerographite
C)Diamond D)Carbyne
Answer Key : A Your Response : Not Answered

Question No. 69
9o (G aF2 NN CoF P (AF Q (S 2T CH71d Q (ATF P J1aT BF T3 80 fF/abr
AR 95 f&RaE6T @I Tf% S13T 12 FbT T foifere @ ATFE ST 1A AfeFE
YRR AT TLFT Fo?
A)2100 7 B)200 =3
C)15 3 D)180 ff3Y

Two trains one from station P to Q, the other from station Q to P start simultaneously with speeds 80 km/h and 95
km/h. If they meet after 12 hours, what is the difference between the distances covered by them?
A)2100 km B)200 km
C)15 km D)180 km
A K :D _— — Your ennnco_ A_MIiranc
nswer Key y, ’IJ) Top

F 7 T Py W oy M p—
B S 2 L P

= oy R [ o e— ey ]
RS S s R T b T ) e LR Y /



7/11/2019 Questi Oﬁm%ection

5% BRI 19 (FST NF, AF6 GRS T 37 9595 1T 27X 1 ©TF 4Ty fovefw Ftam
A)10500 BT B) 10000 B1T
C)10100 BT D)10075 51T

After deducting a commission of 5%, a television set costs Rs.9595. Find its marked price.

A)Rs.10500 B)Rs.10000
C)Rs.10100 D)Rs.10075
Answer Key : C Your Response : C (Correct)

Question No. 71
A TTIT B 97 Q11T 92 I%(JF I00T1 B 93 II7 C a7 {7891 If% A, B 932 C 93 (3016 3%
27 79, 13 B 93 IV §?
A)8 B)9
C)7 D)10

A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then how old is B
‘)

A)8 B)9
)7 D)10
Answer Key : D Your Response : D (Correct)

Question No. 72

TSATE, IoNHeT NHHF TfE T2
A)233 B)250
C)245 D)238

At present, the maximum strength of Rajya Sabha is-

A)233 B)250
C)245 D)238
Answer Key : B Your Response : C (Wrong)

Question No. 73
Tftr 24 G FEF FIHET 18 0 FOT TFIHEHT TA1F 2H, ST TOFAT FO ATS 2412
A)50% B)25%
C)30% D)33.33%

If the cost price of 24 pens is equal to the selling price of 18 pens, find the profit per cent.

A)50% B)25%
C)30% D)33.33%
Answer Key : D Your Response : D (Correct)

Question No. 74

f&af® 91 P, Q 232 R AF® BT TATHE 30 {¥1fers, 20 f&fa® 272 10 Fifaw® ©f$ s31
mnwm%@mﬁﬁmamsﬁwr—ermmnws T a33
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7/11/2@1?4 /11 Wtﬁction

Three pipes P, Q and R can fill a tank in 30 minutes, 20 minutes and 10 minutes. When the tank is empty, all three
pipes are opened while they discharge three chemical solutions S, T and U respectively. What is the proportion of

solution U in the contents in the tank after 3 minutes?

A)6/11 B)5/11
C)4/11 D)7/11
Answer Key : A Your Response : Not Answered

Question No. 75

faafafie @t aFt STy s Teg 732
A)STAFSF (AT B)3[@ el
C) SIfeTfer 1St D)STE T e

Which of the following is NOT a biodegradable waste?

A)Vegetable peel B)Dead leaves
C)Polythene bag D)Rotting fruit
Answer Key : C Your Response : C (Correct)

Question No. 76

(T18-93 fI3F0T 947 F1HFI BF1 (F T FEm=T ?
AT SGSTTET B) (ST 2. 1%
C) Sl fSrasyel IDGENNEING]

Who prepared the first effective vaccine against polio?

A)Robert Edwards B)Jonas E.Salk
C)John Gibbson D)Louis Pasteur
Answer Key : B Your Response : D (Wrong)

Question No. 77

NTIE AT (FT ANIET N T Fo?
A)SRA B) &S (1
C) [WFEIRIT D)W

Mycology is related to the study of-

A)Virus B)Human cells
C)Bacteria D)Fungi
Answer Key : D Your Response : D (Correct)

Question No. 78
AFHT TFE, AFOT V2T, AFST IEAF AF0 FTO IVEFW 3, 4 932 12 foa 19 F3t0
NI FTS6 1/4 fa T8 FI© 20, 3 I JFT AR 4 & ARATF NG Food I[EF
TTSE?

A)28 B)20
C)24 D)12
e T, Top



7MI2R0%nan, a woman and a boy can do a work individually iR¥ PUHdCT2 days respectively. How many boys are to be

employed to help 3 men and 4 women to finish the work in 1/4 of a day?

A)28 B)20
C)24 D)12
Answer Key : C Your Response : D (Wrong)

Question No. 79
SIATTY TSI AT 'S 19! (JFTTT F1I9 52
A)FRT 932 TG TSI AHTH (ST8 B) (STGTERT
C) PG D)SRAN

What causes the 'Mad cow' disease in cattle?

A)Meat and bone meal feed B)Protozoa
C)Bacteria D)Virus
Answer Key : A Your Response : D (Wrong)

Question No. 80
NS IT: (sin0/cos 0) + (cos20/ cos 0)
A)cot 9 B)sec 0
C)tan 0 D)cosec 6

Simplify: (sin?0/cos 0) + (cos?0/cos 0)

A)cot 0 B)sec 6
C)tan 0 D)cosec 6
Answer Key : B Your Response : B (Correct)

Question No. 81

AT ST AFHIeF fFATTITT (@F 19 12T AIF5e?
A)a fufe B) FaFTGT
C) G2 D)3=3

In which city is Indira Gandhi international airport located?

A)New Delhi B)Kolkata
C)Chennai D)Mumbeai
Answer Key : A Your Response : A (Correct)

Question No. 82

SI AFF (AF 57 39-
A)g B)mol
C)kg D)mg

The symbol of mole in SI units is-

Ag B)mol
C)kg D)mg
Answer Key : B Your Response : B (Correct)
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mizstts frFasfT (i BREFMNBE fEfre FaaE Cblecton

AT B)Se
C)I8% D)3

Find the odd one out from the given options.

A)Air B)Water
C)lce D)Steam
Answer Key : A Your Response : C (Wrong)

Question No. 84

(T2 SATTfB forefT T2 I12T TSBT 55 AT (ATF TS U612 95 (AF (2B
A)70 B)45
C)75 D)65

Find the number which is as much greater than 55 as it is smaller than 95.

A)70 B)45
Q)75 D)65
Answer Key : C Your Response : C (Correct)

Question No. 85

2% =0, 9216 3RS (a3 artm IrwE e v gt ras)
12 Pras @ fa99 7 Jfereend T3 T2a™@TsTi

fagfs:

1) (FT RS 39 971

2) (F1 I (b1 991

Prars:

L (&1 TG (Bfe 971
IL. N3 (Bf3= 71 ST

INGEERBEIRICICRYG B) (& &1 11 (N 5

C)fTam I a3 11 S&J2 (N 5 D)% I A1 11 (FTA61R (N (T o




720 %his question, two statements are given followed by tWE6RH0ns. Choose the conclusion(s) which best fit(s)
logically.

Statements:
1) No car is ball.
2) No ball is table.

Conclusions:
I. No car is table.
I1. All tables are cars.

A)Only conclusion I follows B)Only conclusion II follows
C)Both conclusions I and II follow D)Neither conclusion I nor II follows
Answer Key : D Your Response : A (Wrong)

Question No. 86

fET ST AETETST T2FIE S Tws TEF S fva|

A, B, C, D, E, F, G 932 H 3 4 fI91f3e w#ife 1 (Frud i 34 F@F (13 3@ I
JAM=| 9% WEF TFNGI SHIFT T ALTAF, SiFe, TIS1T a3 ST 7w Wy
D (SfF9) a3z H Efafamr), avw Ieiml afefe 77 o137 J 93 T Io7=| G, @
JTEF 3 H 97 ©T 35 (0 fF6lum I | a3 F, G 93¢ H a7 f3F w1 It B,
@ STETERT |, o SfFEa 7 3% 19 fite Iom| € TT&17 a1 E 37 39 93 A 37
i

A9 MY (& SfFra F?
A)G B)F
OA D)B

Read the following information carefully and answer the question given below.

A, B,C,D, E, F, G and H are 4 married couples sitting in a circle facing the center. The professions of the males
within the group are Lecturer, Lawyer, Doctor and Engineer. Among the males D (the Lawyer) and H (the
Engineer) are sitting together. Each man is seated beside to his wife. G, the wife of the Lecturer is seated second to
the right of H, and F is seated between G and H. B, the wife of the Doctor, is seated to the immediate left of the

Lawyer's wife. C is not the doctor. E is a male, and A is a female

Who among the following is the wife of the lawyer?

A)G B)F
O)A D)B
Answer Key : C Your Response : C (Correct)

Question No. 87

X, X + 3, x + 5, X + I s e e e e =] i ) Top
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7/11/2%?7. 3 Waﬁgction
C)7.8 D)7

The mean of x , x +3,x + 5, x+ 7, x + 10 is 9. What is the mean of the first 3 observations?

A)71.3 B)6.66
C)7.8 D)7
Answer Key : B Your Response : Not Answered

Question No. 88

Fete faafafire @ S fFmfo sawE @ afasmeT ans?
A)feifse B)IRAEOF

C) =1 D)5

In banana, which of the following nutrients is present the highest amount?

A)Niacin B)Riboflavin

C)Potassium D)Protein

Answer Key : C Your Response : C (Correct)

Question No. 89
9 S8 (HCF) 3R 9ff M A713 =1 5 : 7 20 S TYF F9?
A)18 B)24
C)12 D)8

If two numbers with HCF 9 are in the ratio 5 : 7, what is their difference?

A)18 B)24
0)12 D)8
Answer Key : A Your Response : A (Correct)

Question No. 90

33T F19 [ NANGF IToTO1F o3 frterar?
A)IFIF B)*TR STEA
C)IRA D)

Birbal was a member of which Mughal Emperor's court?

A)Akbar B)Shah Jahan
C)Babur D)Humayun
Answer Key : A Your Response : A (Correct)

Question No. 91
oy 4T3 8} 3T T T $37 792
A)TE 22 B) af#re 22
C) (=PI 22 D) S 22

When was 'World Earth Day' observed?
A)March 22 B)April 22

C)February 22 Top




TM2R1Rwer Key : B RRB Objecifglyr Response : A (Wrong)

Question No. 92
fSafe FHF @ETE AT @TTHT 93 N7 gy o7 gearw 20 @) wasfag
T JTSH T=ATIG foref7 77
A)11 B)9
C)7 D)13

The sum of three consecutive odd numbers is 20 more than the first of these numbers. Find the largest of these

numbers.

A1l B)9

)7 D)13

Answer Key : A Your Response : A (Correct)
Question No. 93

16 ffas, AifanG 3 16T I613 F617 377 A1F FEI

A)16° B)88°

C)96° D)80°

In 16 minutes, the minute hand gains over the hour hand.

A)16° B)8&8°

C)96° D)80°

Answer Key : B Your Response : Not Answered

Question No. 94
TN A6 AT 9T (ATF 9 ©F 472 AT (ATF 38 OF 3 AR ST CTAe &6
Food (AL ATR?
A)45 B)48
C)47 D)46

Selvam is on 9th position from upwards and on 38th position from downwards in a class. How many students are

in class?

A)45 B)48

)47 D)46

Answer Key : D Your Response : D (Correct)

Question No. 95
NTET FIEF TTSTEF TIAETS AT 572
A)20 Hz (¥ 20 kHz B)40 Hz (¥(& 4000Hz
C)25 Hz (¥ 1500 Hz D)35 Hz (A& 3400 Hz

What is the human ear's normal audible range?

A)20 Hz to 20 kHz B)40 Hz to 4000 Hz
C)25 Hz to 1500 Hz D)35 Hz to 3400 Hz
Answer Key : A Your Response : A (Correct)
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TMREE BN [T 7 NN H(F TFfote NPT TEIFYr FTATF 28 Srorelis AfIIfse
RAET, OT(P 9T 2 7-

A)ITS ST TIH B) & AR S35
C)fiFg afeg Oew D) &F A F RIS S35

The sources of energy which have accumulated in nature over a very long period of time and which cannot be

replaced quickly when exhausted are called-

A)Inexhaustible source of energy B)Renewable source of energy
C)Alternative source of energy D)Nonrenewable source of energy
Answer Key : D Your Response : A (Wrong)

Question No. 97
9% FIF Wy, fSaft f33fs it frarg oraT sepiaa s@m) farg (8f) s3a FFa 37
Jfeyzens STz |

fagfes:

1) ATS S I FJ|

2) 19 A (& I FE|

3) IMIFAITAT S©F T 972 HifAe I FF|

fraTs:

LTS, TS6F A7¢ 9 A2 AHATET 9gsfo|

I1. $&T S&EF A% I SfH INI FI© AT |

A) ST HT 11 oSl & B)I 32 II SoF SN St
C) %18 1 AT 11 (FTACIR SlepsTael HFeA] D)Ba a1 [ S5l F&

In this question, three statements are given followed by two conclusions. Choose the conclusion(s) which best fit(s)

logically.

Statements:
1) Fishes live in water.
2) Tigers live in land.

3) Amphibians live both in water and on land.

Conclusions:
I. Fishes, amphibians and tigers belong to the same family.

I1. Both the amphibians and tigers can live in land.

A)Only conclusion II follows B)Both conclusions I and II follow
C)Neither conclusion I nor II follows D)Only conclusion I follows
Answer Key : A Your Response : A (Correct)

Question No. 98

&F 19 T3 ST TS F AT THE6 Ty FIEF?

S e e e e— ] \.}}5?/ Top
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AT B) (&
C)T% D)1 (Paw)

Which word will best complete the relationship given below?

Horse : Hoof :: Cat : ?

A)Leg B)Tail
C)Hand D)Paw
Answer Key : D Your Response : D (Correct)

Question No. 99
236 AfFTRF 4o amnEs Wy e MLFT T IYTT T2oeN SAT T, FATTS
%o Ao ramE 27 % ATEF IR NG G FATI
A)(STBRIGIE B) STSGIE
C)f@reie D)JWGIE

The simplest way to maintain a potential difference between the two ends of a conductor, so as to get a continuous

flow of current is to connect the conductor between the terminals of a

A)Voltmeter B) Ammeter
C)Rheostat D)Battery
Answer Key : D Your Response : D (Correct)

Question No. 100

(oo 97 AN (o Te IO T FF|
A)SFT B) g4

C)vds D)3

Identify a physical quantity which is NOT a vector.

A)Displacement B)Acceleration
C)Distance D)Force
Answer Key : C Your Response : C (Correct)
—— T T AT y, Top
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